| Efficiency vs Dxy |
.02
X

<N S T S R S S S
LR e o S
< S T T T A S
e

Q) - H H H H H N N N N
N S A I A S S S
7 T 1

eff

-
OIO0B[-

oot
R -
002
1Q
1.1
1
O ERRAE R S T || IR S S R
08 e 55-15-10 =5~ 0 5 10 15 20 25

TP dxy (cm)

Ratio

—=— DQM_mkFit_TT_base
[ Efficiency vs Dz | |—s— DQM_mkFit_TT_retrain_noCandDNN

—+— DQM_mkFit_TT retrain
_50.02 . : ; ;

e O Cctaoere Fet HA B
> F :
T R I R SRR S EE
5
O o R S S B S
o f :
OO B A R S o
OO S 1 S SIS SRS St S HE
| T T T s E
0006 = -vvovovosboooefooe i foooeossd oo oo
0.004 - froede
0.002f-++t-eeefers - P PRI oo
O O:I 11 1 ; 111 1 : o1 1 11 1 |
"(-:5 1_— ---------- [ o e -m%- -  EET TR PP
m E : *
09:_ ............... P "4» .........................

8620 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


